Test Bank Questions for Chapter 4

MULTIPLE CHOICE.  Circle the letter that provides the BEST answer for each question.  There is only one correct answer for each question.  
  1.  One of the world's richest estuaries is the:

   A.  Chesapeake Bay.

   B.  Antarctic region.

   C.  Salton Sea.

   D.  Black Sea.

   E.  abyssal plain of the Atlantic Ocean.

2.  Which of the following is an abiotic factor?
   A.  living space
   B.  disease organisms
   C.  photosynthesis

   D.  producers
   E.  saprotrophs

3.  A species is:

   A.  organisms that live together.

   B.  organisms that live in the same area at the same time.

   C.  a group of similar organisms whose members freely interbreed with one another.

   D.  all of the organisms that live together in an area, plus the physical environment that they live in.

   E.  all organisms of a similar type, regardless of their distribution or location.

 4.  Which of the following series is organized according to the levels of biological organization used by ecologists?

   A.  population -> ecosystem -> community

   B.  species -> community -> abiotic factors

   C.  species -> ecosystem-> population

   D.  population -> community -> biotic factors

   E.  population -> community -> ecosystem

          5.  An ecosystem can be characterized as:

   A.  populations + community.

   B.  all species, population, and community interactions for organisms in a given area.

   C.  the abiotic components of the environment.

   D.  all of the biological interactions, plus interactions between the biotic and abiotic environment.

   E.  interactions between physical processes and the abiotic environment in which organisms live.

6.  The layer of our planet that is made of rock is the: 
   A.  hydrosphere.
   B.  ecosphere.
   C.  biosphere.
   D.  lithosphere.
   E.  atmosphere.
7.  The chemical energy stored in a plant is an example of:
   A.  kinetic energy.
   B.  nuclear energy.
   C.  solar energy.
   D.  potential energy.
   E.  radiant energy.
8.  The First Law of Thermodynamics states that:
   A.  energy can be created or destroyed by physical processes.
   B.  entropy always increases.
   C.  energy cannot be created or destroyed.
   D.  the organization of the universe is steadily increasing.

   E.  energy transfer between organisms is highly inefficient and much energy is lost.

9.  Entropy is a measure of:
   A.  the amount of energy in a system.
   B.  the amount of work done.
   C.  the disorder in a system.
   D.  the efficiency of a system.
   E.  the rate of energy use in a system.

10.  Physical laws state that we can recycle:

   A.  both matter and energy.

   B.  neither matter nor energy.

   C.  matter, but not energy.

   D.  energy, but not matter.

   E.  There are no physical laws governing the recycling of matter or energy.

11.  Energy:

   A.  recycles through an ecosystem.

   B.  is used over and over again.

   C.  flows in only one direction through an ecosystem.

   D.  tends to be concentrated by living organisms.

   E.  is efficiently transferred between trophic levels.

12.  Light is the energy source for which process?
   A.  respiration
   B.  photosynthesis
   C.  glycolysis
   D.  mitochondria
   E.  chemical productivity in the deep sea

13.  The correct, chemically balanced equation for photosynthesis is:
   A.  12CO2  +  6H2O  + RADIANT ENERGY ----> C6H12O6 + 12O2.
   B.  6CO2  + 12H2O  +  RADIANT ENERGY ----> C6H12O6 +  6H2O  +  6O2.
   C.  12O  +  C6H12O6  +  6H2O ----> 6CO2  +12H2O  +  ENERGY.
   D.  12O2  +  C6H12O6  +  12H2O ----> 6CO2  + 12H2O + ENERGY.
   E.  6O2  +  C6H12O6  +  6H2O ----> 6CO2  + 12H2O + ENERGY.
14.  Which of the following organisms are capable of cell respiration?

   A.  green plants

   B.  bacteria

   C.  carnivores

   D.  algae

   E.  All of the above

15.  The correct, chemically balanced equation for cell respiration is:
   A.  12CO2 + 6H2O + RADIANT ENERGY ----> C6H12O6 + 12O2.
   B.  6CO2 +12H2O + RADIANT ENERGY ----> C6H12O6 + 6H2O + 6O2.
   C.  C6H12O6 + 12 H2O ----> 6CO2 +12H2O + ENERGY.
   D.  12O2 + C6H12O6 + 12H2O ----> 6CO2 + 12H2O + ENERGY.
   E.  6O2 + C6H12O6 +  6H2O ----> 6CO2 + 12H2O + ENERGY.
16 The amount of energy passed from one trophic level to the next is approximately:
   A.    1%.
   B.  10%.
   C.  25%.
   D.  50%.
   E.  75%.
17  A wolf is an example of:
   A.  a tertiary consumer.
   B.  an autotroph.
   C.  a saprotroph.
   D.  a herbivore.
   E.  an omnivore.

18.  Decomposers are:
   A.  bacteria and fungi.
   B.  consumers.
   C.  saprotrophs.
   D.  heterotrophs.
   E.  All of the above are correct.
19.  A secondary consumer would eat:

   A.  tertiary consumers.

   B.  fungi.

   C.  bacteria.

   D.  herbivores.

   E.  lions.

20.  A primary consumer would eat:

   A.  secondary consumers.

   B.  plants.

   C.  bacteria.

   D.  herbivores.

   E.  rabbits.

21.  Decomposers provide mineral nutrients for:
   A.  consumers.
   B.  producers.
   C.  the second trophic level.
   D.  the third trophic level.
   E.  omnivores
22.  Each level or "link" in a food chain or a food web is called:

   A.  a trophic level.

   B.  a consumer.

   C.  an energy flow unit.

   D.  an equivalent.

   E.  entropy.

23.  In a pyramid of energy, the lowest quantity of energy ( kcal per m2), would be found in the:

   A.  producers.

   B.  primary consumers.

   C.  secondary consumers.

   D.  tertiary consumers.

   E.  herbivores.

24.  Net primary productivity represents:

   A.  plant growth per unit area per unit time.

   B.  energy per unit area per unit time.

   C.  the energy available to herbivores.

   D.  amount of biomass found in excess of that broken down by a plant's cell respiration.

   E.  All of the above

25.  The ultimate source of energy for the communities of the hydrothermal vents is:

   A.  hot seawater.

   B.  sinking detritus from the surface waters.

   C.  energy derived from photosynthesis, as in almost all other communities.

   D.  chemical synthesis of organic molecules by bacteria.

   E.  algae.

